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Name of Course: CBCS B.A. (prog.), Semester ll

Name of the paper: principles of Microeconomics_ll

Unique Paper Cod e: 6227fZOL_aC

Maximum Mark: 75 Marks

Time Limit: 3 Hotlrs

Answer any five questions out of eight, All questions carry equal marks;
Some questions are for VHl(Visually handicapped) students.

Note: Answers may be written either in Engrish or rn Hindi; but the same medium shourdbe used throughout the paper.
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2'(a) Exprain short run equiribrium of a firm under monoporisirc competition using suitabrediagram.
(s)

(b) ls the use of advertislng by firms justified to achieve market power? Explain. (6)
(a)q6rB6ik€'uftrilFrdr&siilIid\16'Eds$igrrd,rig*+1uugffi 
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3. (a)Given the following information about firm under monopoly: p..5)
Demand: P=10-e

Marginal Revenue: MR=X0_2e

Total Cost:IC = 3.+ 0 + 0.502

f. 
!11 lxnlain 

ttre short-run.equllibrlum conditions of a firm under monopofy?(b) Explain the dead welght lo.ss^that arises due to monopolf poqer?
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lnstructions for Candidates:
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a

MarEinal Cost: Mc=1+Q

Where P=Prlce and Q=Output. Calculate

(i) Equilibrium output
(iil Equilibrium Price
(iii) Monopolist'sProfit.

(b) What do you mean by public goods? (7.S)

(a) gsrft-or & agd FC & Ert fr mfud qrroT.fi A ri€ t
qiq; p=1s - q

Sqid ofrq' un.= ro - ze

$-f, EItliI: rc = 3 + Q + 0.5Q2
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what are the main features of a moriopoly? Explain long run equilibrium of a flrm under
mohopoly. Can a monopolist earn super normalprofit ln the long run? lf yes, why? (15)
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4. (a) Draw a supply and demand diagram to explaln the effirct of a negative externality that
occurs as a result of a firmls production process. (S)

(b) Explain the concept of excess capacity under monopolistic competitlon. ln
(a) C-€ Fd e1 se'rfi s'hqr fi irRuflqgsq Ae ilffi qtrnrdrr Era'dr e w{rq frl3ltiqiitorrtsc_{rqt .

(b) q-ofU-flFw'cfrdFrdl b .trf, .lrfrts errar o1 erinrunqfi qTro*r d&qr
5, (a) What do you mean by comparative coirt advantage theory of interiational trade?(g)

(bi'Protection from free trade has meriis and demerits as well. Discuss. (7)
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6.(a) SUppose that labour is the
production function is a follows: 

only input used by a perfectly competitfue flrm. The flrm,s
(7.s)

Oays

Labour
Units

Output
of

0 days 0 units

7 7

13

3 79

4 25

5 28'
6 ,o

7 29

11 Calculate^themarginalproductforeachaddltional.labour.(ii) 
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sels ror Rs 10. ..d;;il;;;;the marsinarpro4uct or
(iii) Graph the firm,s demand curve,

(b)Glve two examples of events that
they do so.

could shift the supply of labor, and explaln why
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(iii)
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What are the .major sources of market fallure? Deflne extemalities. What are the
possible methods to lnternalise extemalities? ($)
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7. (a) Explain how the wage can adjust to balance the supply and demand for labor while

' simultaneously equating the value ofthe marginal product of labor. l7l
(b) What do you mean by oligopoly? Differentlate between Collusive and non-cottusive
oligopoly. ' (8)
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8. Write shorts notes on anytwo: l7.S,7.Sl

(a) Arror,r's lmpcissibility Theorem

(b) Price Dlscrhination

(c) Prisone/s Dllemma

(d) Asymmetric lnformation
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